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1 Reduce the following state table using a merger diagram and compatibility graph.
Present | Next State/Output
State 0 -1
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2 For the given state table, apply the state assignment techniques and justify your [5]
Present | -Next State, X
State = [+ - ) 1
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3 Reduce __théﬁ’fffglloﬁngjfihcompletely specified state table using implication chart. Also f5]
identifyithe cotnpatible pairs :
Present Next State Output
State x=0 =1 =0 =1
a a b 0 -
b . c b 0 1
c d 3 - 1
d a c 0 -
¢ e a - 0
4 (a) Explain the building block of ASM charts in detail ; [31
(b)  Design a sequence- detector that will detect the following sequence 1011. Overlapping is [2]

permitted.
5 (a) What is maximum compatibility? What is the difference between compatible states and  [3)
maximal compatibility? ,
(b) Describe in your own words the difference between fundamental and pulse mode [2
asynchronous sequential circuits,



